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B 12. Divide.

) (+84) + (-12) b} (-75) + (-15)
O (78) = (+13) d) (+98) + (+14)

13. Four friends had lunch at a restaurant.

‘They share the bill equally. The bill is
$52. How much does each friend owe?
a) Write this problem as a di

expression using integers.
b) Solve the problem.

ion

For each number below, find two

the product
iv) the quotient
a) -8 b)-2 9-12  d)-3

15. Evaluate.
a)(=3)[5 - (=3)]
b) [8 = (—4)] — 10(3)

6+ 12+ ()X (=)
9 [SUED

18. Divide. Estimate to check each quotient
is reasonable.
29+

o 13+

19. A recipe for one bowl of punch calls for
1% bottles of sparkling water.
For a party, Aaron wants to make
5% bowls of punch.
‘How many bottles of sparkling water
does Aaron need to make the punch?

20. Evaluate.

21. Solve cach problem. Explain how you
decided which operation to use.
a) Justine usually runs 73 laps of the





